2. thZolA BcC ARl A2?

@4a={z|sA9%), B= {2357, )
@ A={z|2eEF}, B={z|2zE &5}
® A={1,3,5}, B={1,2,3,4,5,6}

@ A=1{1,3,9}, B={1,2,3,6}

@ AZ@a B:{_‘vL7E}

4 2, 35 |

B

@ Z3TA7}
®AcCB
@ ZIAT|A7} ot
®ACB

—
ot
ok

3. S 357 Fol Al Aepate] 7} 2 shago

Oﬂ 7]_ = 5_11.,%401 21 \:Oﬂ, /Hobﬂ-oﬂtl]- 7]. B 61—Aﬂo] 7]

o,




35739 S AAHG U, A4te] 71 & &4
o Hoh= A, A=Atel 7t & 9] k= BEt

n(U) = 35,n(A) =15,n(B) =21, n(A—B) =17
n(ANB)=n(A) —n(A—-B)=15—-T7=23,
n(AUB) =n(A)+n(B)—n(ANB) =15+21 —
8 =128

et = X BT 7 2 Hol gl o =
n((AUB)®) = n(U)—n(AUB) = 35—-28 = 7(%)
Wl cholol TR0 2 Lrehw o8t 2k,

k=)
)
)
k]
oS
0,
i
ol

3ojsh= =9 AL Be
ojlmg
n(BY) =n(U) —n(B) =36 — 17 = 19( 4)

olet.

o]y 4 514 36 @ 3 Jotd S Fobshe S
22 %, Mool Folshs SPALS 17 1, ZotA|e} 19
o} B Hojshs SHIL g Welth. of 1, Mol
Hofah sty o 3, F5}]
® 154 @ 161 ® 179




